13 FISHING
1310 N Hercules Ave
Unit B
Clearwater, FL 33765

PH (800) 508-6013
info@13fishing.com

1-6061
2-6061
3-6061
4-6061
5-6061
6-6061
7-6061
8-6061
9-6061
10-6061
11-6061
12-6061
13-6061
14-6061
15-6061
16-6061
17-6061
18-6061
19-6061
20-6061

50

1213 14 15 16

51 2 53 54 55

BIACKBETTY 6oc6

Push Button

Push Button Spring
Handle Knob Cap
Screw M2.5*L4.5
Nut

Handle Rivet

Stop Spring

Handle Knob
Handle

Screw M3*L7

Star Drag

Star Handle
Elasticity Spring
Ball Bearing 8*16*5
One Way Clutch
One Way Cluth Inner Ring
Drag Knob Click
Plastic Washer
Frame

Reel Seat

21-6061
22-6061
23-6061
24-6061
25-6061
26-6061
27-6061
28-6061
29-6061
30-6061
31-6061
32-6061
33-6061
34-6061
35-6061
36-6061
37-6061
38-6061
39-6061
40-6061

Ball Bearing 10*15*4
Key Washer

Tefflon Washer

Drive Gear

Drive Gear Guide

Knob Holder Washer
Knob Holder Washer Spring
Knob Holder

Holder Spring

Reel Seat Screw

Stop Post

Click Spring Restrain
Click Stand

Click Spring Fixed Screw
Click Spring

Click Stand Fixed Screw
Inner Cap

Main Shaft Screw

Fixed Washer

Click Gear

41-6061
42-6061
43-6061
44-6061
45-6061
46-6061
47-6061
48-6061
49-6061
50-6061
51-6061
52-6061
53-6061
54-6061
55-6061
56-6061
57-6061
58-6061
59-6061
60-6061

Ball Bearing Washer 61-6061 Pinion Gear Spring
Screw M3*L6 62-6061 Fixed Gear Spring
Spool 63-6061 E2.0 spring

O Spring 64-6061 Handle Knob Inserts
Locking Screw 65-6061  Chain Wheel Cover
Main Shaft 66-6061 Screw M4*L12
Pinion Gear

Ball Bearing 5*9*3

Spool Washer

Locking Screw

O Spring

Locking Cover

Top Needle Spring

Top Needle

Locking Screw Slotted Post
Left And Right Holder
Fixed Shift

Pinion Gear Holder Guide
Pinion Gear Holderguide Spring
Screw M2*L5



